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Find out the wrong noun-adjective pair from the following :~ _
(%) Frail-Frailty  (R) Fertile-Fertility = (3) Brave-Brevity (%) Local-Locality

Select the correct meaning of 'give up' from those given below:

(2) takedown  (R) abandon (3) bear (¥) donate

The newspaper wrongly ...... the statement to the Home Minister.

Correct word to be filled in the blank is: '

(2) applied (?) attributed (3) allotted © (¥) assigned
Select the correct antonym of Pride : _ . .

(2) friendship (?) cooperation (3) humility * (¥) shame
Icannot...... the next word, he has written it so badly - Fill in the blank.

(%) make up () make for (3) make out (¥) make up for -

“'Which one of the following pairs gives the two meaning of the word submit?

(%) to consider and to urge (?) to yield and to offer
(3) to evade and to expose (¥) to sigh and to rebel
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Choose the correct adverb to fill in the blank:

He has been reading ...... 2010.

(%) since (R) for (3) from (¥) then

Select the correet spelling from amongst the alternatives. ' .

(2) Etymolagist () Etimalogist (3) Etimoilogist (¥) Etymologist

There is word spelt in four different ways. Out of them only one is correct which
one is correct? '

- (%) enmity () enemity (3) enimity (¥) enimety
That which is likely to happen in the future?
(%) anticipated  (R) initial (2) intended (¥) imminent
Crocodile tears means. ‘ .
(%) laughing (R) false tears
(3) hue and cry _ ' ' (¥) to cause quarrei -

Choose the antonym of the word : Strange _ :
(2) Familiar () Unknown ~ (3) New (¥) Doubtful

The synonym of the word absolutely is ...... ' - ,
(2) regularly (?) really (3) entirely (¥) partially
The feminine of horse s ...... ' '

(%) bitch () sow ~(3) ewe (¥) mare
Insert the correct word in fhe following sentence. ;

Macbeth is the tragedy of a man who was ...... with great qualities?

(2) empowered (R) endowed (‘:3)'.privilcged ) pro‘mised

Choose the correct adjective that can be used to fill in the blank in the following
sentence. What politicians say is hardly ......?
(2) creditable (R) credible (3) credential (¥) credulous

Imprudent Kings patronize sycoph aﬁts in their Courts. - Find out the word
similar in meaning to sycophants. :
(2) flippants (?) flaterers (2) psychophaths = (¥) sadists

Choose the correct sentence from the following :-

(%) That coat is mine. (?) That coat is my.

(3) That coatis I's. (¥) That coat is mines.
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Choose one of the alternatives nearest in meaning to the key-word. Malevolent
(2) Extremely violent (?) wishing evil towards other

(3) in poor voice (¥) insane

Which one of the following is a pair of words not the same meaning?

(2) Mute-dumb (R) Pride-vanity
(3) Rigid-stiff (¥) Zealous-sluggish
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